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UNDERSTANDING QUADRILATERALS

Illustrations

1. Which of the following groups of angles can be the

angles of a quadrilateral? 

a. 


b. 

Watch Video Solution

70∘ , 80∘ , 90∘ , 120∘

75∘ , 65∘ , 115∘ , 125∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OqVbkLOjUtGO


2. Three angles of a quadrilateral are  and 

. Find the fourth angle.

Watch Video Solution

30∘ , 150∘

100∘

3. The angles of a quadrilateral are in the ratio 5:3:9:7.

Find the angles.

Watch Video Solution

https://dl.doubtnut.com/l/_OqVbkLOjUtGO
https://dl.doubtnut.com/l/_LP7w4Q2r2zFC
https://dl.doubtnut.com/l/_O9OqzFb6s7zn


4. Find the value of x in the given figure. 

Watch Video Solution

5. How many sides does a regular polygon
 have if the

measure of an exterior angle is 24^\circ

Watch Video Solution

https://dl.doubtnut.com/l/_RUS0Q9wDIXrT
https://dl.doubtnut.com/l/_t4PAsqGWDh8C
https://dl.doubtnut.com/l/_CkbbFm2n5Uog


6. Two adjacent angles of a parallelogram are
equal. What

is the measure of each?

Watch Video Solution

7. RENT is a rectangle. Its diagonals meets at O. Find x if

 and .

Watch Video Solution

OR = 2x + 3 OT = 3x + 2

8. If the length of a diagonal of square is 6cm. Find the

length of the side of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_CkbbFm2n5Uog
https://dl.doubtnut.com/l/_4psvYDy8EHWh
https://dl.doubtnut.com/l/_DfIMZic4u5S1
https://dl.doubtnut.com/l/_pPlbSfSaQrwS


9. PQRS is a square. PR and SQ intersect at O. State the

measure of . 


Watch Video Solution

∠POQ

https://dl.doubtnut.com/l/_pPlbSfSaQrwS
https://dl.doubtnut.com/l/_0mEWhi584sV0


Solved Examples

10. The adjacent figure 
 is a trapezium in which 


find the measures of 

Watch Video Solution

PQRS

SPRQ, ∠P  and ∠R.

11. ABCD is a trapezium in which  and 

. Find  and . Are these angles

equal?

Watch Video Solution

AB ∣ ∣ DC

∠A = ∠B = 40∘ ∠C ∠D

https://dl.doubtnut.com/l/_0mEWhi584sV0
https://dl.doubtnut.com/l/_ftlb734e7hjl


1. The angles of a quadrilateral are  and 

respectively. Find the fourth angle.

Watch Video Solution

100∘ , 98∘ 92∘

2. The four angles of a quadrilateral are in the ratio

2:3:5:5. Find the angles.

Watch Video Solution

3. The measures of two angles of a quadrilateral are 

and  and the other two angles are equal. Find the

measure of each of the equal angles.

70∘

90∘

https://dl.doubtnut.com/l/_l3MfTfJPHd3w
https://dl.doubtnut.com/l/_A6Xxz8MrYuSB
https://dl.doubtnut.com/l/_yj2LAFAmGogY


Watch Video Solution

4. One angle of a quadrilateral is  and the remaining

three angles are equal. Find the three equal angles.

Watch Video Solution

99∘

5. Find the measure of each interior angle of a regular

polygon is 15 sides.

Watch Video Solution

6. The perimeter of a parallelogram is 150 cm. One of its

side is greater than the other by 25 cm. Find the lengths

https://dl.doubtnut.com/l/_yj2LAFAmGogY
https://dl.doubtnut.com/l/_nJrEF65fK0uC
https://dl.doubtnut.com/l/_DOc1UXu8kNhx
https://dl.doubtnut.com/l/_T68ni2hsjcHd


of all the sides of the parallelogram.

Watch Video Solution

7. In a quadrilateral PQRS: , ,

. Find the measure of . Is it a convex or

concave quadrilateral?

Watch Video Solution

∠P = 80∘ ∠Q = 90∘

∠R = 65∘ ∠S

8. The diagonals of a rhombus are 10 cm and 24 cm. Find

the length of a side of the rhombus.

Watch Video Solution

https://dl.doubtnut.com/l/_T68ni2hsjcHd
https://dl.doubtnut.com/l/_qIqBzSOdDmO8
https://dl.doubtnut.com/l/_vkz7Enuak8b2
https://dl.doubtnut.com/l/_g2YunREbtrvI


9. Diagonal AC of a rhombus ABCD is a equal to one of its

sides BC. Find all the angles of the rhombus. 

Watch Video Solution

https://dl.doubtnut.com/l/_g2YunREbtrvI


10. The length of a rectagle is 4 cm and each of its

diagonals measures 5 cm. Find its breadth.

Watch Video Solution

11. RING is a parallelogram as shown in the figure. If

, find all other angles.


Watch Video Solution

∠R = 70∘

https://dl.doubtnut.com/l/_cvapiKLtRwyL
https://dl.doubtnut.com/l/_ReUbQ1DjDD6I
https://dl.doubtnut.com/l/_hFkGN6MTAUNI


12. Prove that the interior angle of a regular pentagon is

three times exterior anles of a regular decagon.

Watch Video Solution

13. In the the give ABCD is a square. Find the measure of

/_CAD. 

https://dl.doubtnut.com/l/_hFkGN6MTAUNI
https://dl.doubtnut.com/l/_6OkrywibtWPI


Watch Video Solution

14. If the length of a diagonal of a square is 8 cm. Find the

length of the side of the square.

Watch Video Solution

15. ABCD is a trapezium in which  

. Find  and . Are these

angles equal? 

AB ∣ ∣ DC

∠A = ∠B = 30degree ∠C ∠D

https://dl.doubtnut.com/l/_6OkrywibtWPI
https://dl.doubtnut.com/l/_6tTr25po327B
https://dl.doubtnut.com/l/_3jpRp32Hy8mB


Ncert Section Exercise 3 1

Watch Video Solution

1. Given here are some figures: 




Classify each of them on the basis of the following: 

a. Simple curve 

b. Simple closed curve 

c. Polygon d. Convex polygon 

e. Concave polygon.

h id l i

https://dl.doubtnut.com/l/_3jpRp32Hy8mB
https://dl.doubtnut.com/l/_lqpJOUyfW2IB


Watch Video Solution

2. How many diagonals does each of the following have? 

a. A convex quadrilateral 

b. a regular hexagon c. A triangle.

Watch Video Solution

3. What is the sum of the measures of the angles of a

convex quadrialteral? Will this property hold if the

quadrilateral is not convex? (Make a non convex

quadrilateral and try!)

Watch Video Solution

https://dl.doubtnut.com/l/_lqpJOUyfW2IB
https://dl.doubtnut.com/l/_H2YInL96Hep7
https://dl.doubtnut.com/l/_NXlMeRdMMFy9


4. Examine the table. (Each figure is divided into triangles

and the sum of the angles deduced from that ). 




What can you say about the angle sum of a convex

polygon with number of sides 7, 8, 9?

Watch Video Solution

5. What is a regular polygon? State the name of a regular

polygon of 

(i) 3 sides (ii) 4 sides (iii) 6 sides

Watch Video Solution

https://dl.doubtnut.com/l/_S54NrzxIG5N5
https://dl.doubtnut.com/l/_l4akg8W9GeCj


6. Find the angle measure x in the following figures. 

Watch Video Solution

7. Find a.  b. Find . 


Watch Video Solution

x + y + z x + y + z + w

https://dl.doubtnut.com/l/_l4akg8W9GeCj
https://dl.doubtnut.com/l/_GbMyiUEg2N2T
https://dl.doubtnut.com/l/_7Y9AUrDY5fLy


Ncert Section Exercise 3 2

1. Find x in the following figures: 

Watch Video Solution

2. Find the measure of each exterior angle of a regular

polygon of 

(i) 9 sides 

(ii) 15 sides

Watch Video Solution

https://dl.doubtnut.com/l/_eyPUw2Zg7NK0
https://dl.doubtnut.com/l/_iwRu3kvjvLiC


Watch Video Solution

3. How many sides does a regular polygon have if the

measure of an exterior angle is ?

Watch Video Solution

24∘

4. How many sides does a regular polygon have if each
of

its interior angles is 165^\circ

Watch Video Solution

5. a. Is it possible to have a regular polygon with measure

of each exterior angle as ? 


b. Can it be an interior angle of a regular polygon? Why?

22∘

https://dl.doubtnut.com/l/_iwRu3kvjvLiC
https://dl.doubtnut.com/l/_vk3GcFmGzgt6
https://dl.doubtnut.com/l/_K0GKMVhzfLpn
https://dl.doubtnut.com/l/_8Ba0jjnR7qB8


Ncert Section Exercise 3 3

Watch Video Solution

6. a. What is the minimum interior angle possible for a

regular polygon ? Why? 

b. What is the maximum exterior angle possible for a

regular polygon?

Watch Video Solution

1. Given a parallelogram ABCD. Complete each
 statement

along with the definition or property
 used.
 (i)

https://dl.doubtnut.com/l/_8Ba0jjnR7qB8
https://dl.doubtnut.com/l/_jeeP7pLAyPzW
https://dl.doubtnut.com/l/_z5ljPr0h661n


AD{\rm{ }} = {\rm{
}}.....

Watch Video Solution

2. Consider the following parallelgorams. Find the value of

the unknows x,y,z. 

Watch Video Solution

3. Can a quadrilateral ABCD be a parallelogram if 

(i) ? 
∠D + ∠B = 180∘

https://dl.doubtnut.com/l/_z5ljPr0h661n
https://dl.doubtnut.com/l/_HuZmut0c6Kuv
https://dl.doubtnut.com/l/_Xb6BBinbmwYZ


(ii)  and ? 


(iii)  and ?

Watch Video Solution

AB = DC = 8cm, AD = 4cm BC = 4.4cm

∠A = 70∘ ∠C = 65∘

4. Draw a rough figure of a quadrilateral that is not a

parallelogram but has exactly two opposite angles of

equal measure.

Watch Video Solution

5. The measures of two adjacent angles of a
parallelogram

are in the ratio 3 : 2. Find the measure of each of the

angles
of the parallelogram.

https://dl.doubtnut.com/l/_Xb6BBinbmwYZ
https://dl.doubtnut.com/l/_cConlNA6wHdX
https://dl.doubtnut.com/l/_m30mb5eXmJhM


Watch Video Solution

6. Two adjacent angles of a parallelogram have equal

measure. Find the measure of each of the angles of the

parallelogram.

Watch Video Solution

7. The given figure HOPE is a parallelogram. Find the angle

measures x,y and z. State the properties you use to find

https://dl.doubtnut.com/l/_m30mb5eXmJhM
https://dl.doubtnut.com/l/_P2q32ncQArkv
https://dl.doubtnut.com/l/_5sssgAX69rU9


them. 

Watch Video Solution

8. The following figures GUNS and RUNS are

parallelograms. Find x and y. (Length are in cm).

https://dl.doubtnut.com/l/_5sssgAX69rU9
https://dl.doubtnut.com/l/_QnfV7Q1P8630


Watch Video Solution

9. In the given figure btoh RISK and CLUE are

parallelograms. Find the value of x. 

Watch Video Solution

https://dl.doubtnut.com/l/_QnfV7Q1P8630
https://dl.doubtnut.com/l/_0V0jsFxlWurf


10. Explain how this figure is a trapezium. Which of its two

sides are parallel?

Watch Video Solution

https://dl.doubtnut.com/l/_UPzm2G6cy951


11. Find  in the given figure if . 


Watch Video Solution

m∠C ¯̄̄ ¯̄¯AB ∣ ∣ ¯̄¯̄¯̄DC

12. Find the measure of  and  if  in

figure.

∠P ∠S ¯̄¯̄¯SP ∣ ∣ ¯̄¯̄̄ ¯QR

https://dl.doubtnut.com/l/_1Esg9R2XkqWI
https://dl.doubtnut.com/l/_vjcSPf51DbBc


Ncert Section Exercise 3 4

Watch Video Solution

https://dl.doubtnut.com/l/_vjcSPf51DbBc


1. State whether True or False. 

All rectangles are squares.

Watch Video Solution

2. State whether True or False. 

All rhombuses are parallelograms

Watch Video Solution

3. State whether True or False. 

All squares are rhombuses and also rectangles.

Watch Video Solution

https://dl.doubtnut.com/l/_KEqwuNs7boII
https://dl.doubtnut.com/l/_awK8NrSD2hBF
https://dl.doubtnut.com/l/_5gNlYznil50j


4. State whether True or False. 

All squares are not parallelograms.

Watch Video Solution

5. State whether True or False. 

All kites are rhombuses.

Watch Video Solution

6. State whether True or False. 

All rhombuses are kites.

W t h Vid S l ti

https://dl.doubtnut.com/l/_5gNlYznil50j
https://dl.doubtnut.com/l/_3C9x4RWjDH2A
https://dl.doubtnut.com/l/_bVzolhRKmeNx
https://dl.doubtnut.com/l/_cevviFy4NSpN


Watch Video Solution

7. State whether True or False. 

All parallelograms ae trapezium.

Watch Video Solution

8. State whether True or False. 

All squares are trapeziums.

Watch Video Solution

9. Identify all the quadrilaterals that have 

a. four sides of equal length.

https://dl.doubtnut.com/l/_cevviFy4NSpN
https://dl.doubtnut.com/l/_ML2nxRZcaMYA
https://dl.doubtnut.com/l/_83xFfsAN3mwl
https://dl.doubtnut.com/l/_B2eRVXY1X3gI


Watch Video Solution

10. Identify all the quadrilaterals that have. four sides of

equal length

Watch Video Solution

11. Explain how a square is 

a quadrilateral

Watch Video Solution

https://dl.doubtnut.com/l/_B2eRVXY1X3gI
https://dl.doubtnut.com/l/_M1hoInN621GJ
https://dl.doubtnut.com/l/_6DpWHHrSRnBG


12. Explain how a square is 

a parallelogram

Watch Video Solution

13. Explain how a square is 

a rhombus

Watch Video Solution

14. Explain how a square is 

a rectangle

Watch Video Solution

https://dl.doubtnut.com/l/_MaG9bbxgKpqv
https://dl.doubtnut.com/l/_9KNAQjIZyNbl
https://dl.doubtnut.com/l/_13tZ7j8xNoFF


15. Name the quadrilaterals whose diagonals 

(i) bisect each other.

Watch Video Solution

16. Name the quadrilaterals whose diagonals 

are perpendicular bisectors of each other.

Watch Video Solution

17. Name the quadrilaterals whose diagonals 

are equal

W t h Vid S l ti

https://dl.doubtnut.com/l/_13tZ7j8xNoFF
https://dl.doubtnut.com/l/_ATKGPAJRWmxs
https://dl.doubtnut.com/l/_21ztF9SycDJ3
https://dl.doubtnut.com/l/_G7TJoc0HtZ9A


Watch Video Solution

18. Explain why a rectangle is a convex quadrilateral.

Watch Video Solution

19. ABC is a a right angled triangle and O is the mid point

of the side opposite to the right angle. Explain Why O is

equidistant from A,B and C. (The dotted lines are drawn

additionally to help you). 

W t h Vid S l ti

https://dl.doubtnut.com/l/_G7TJoc0HtZ9A
https://dl.doubtnut.com/l/_yFPkLVP2R96e
https://dl.doubtnut.com/l/_WglRC51chxU2


Exercise Multiple Choice Question Level 1

Watch Video Solution

1. The two diagonals are not necessarily equal in a

A. rectangle

B. square

C. rhombus

D. isosceles trapezium

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_WglRC51chxU2
https://dl.doubtnut.com/l/_8bPHogvahvW4
https://dl.doubtnut.com/l/_v3Jasw8Hd7mw


2. The lengths of the diagonals of a rhombus are 16 cm

and 12 cm . The length of each side of the rhombus is

A. 8cm

B. 9cm

C. 10cm

D. 12cm

Answer:

Watch Video Solution

3. Two adjacent angles of a parallelograms are 

and  . The value of x is

(2x + 25) ∘

(3x − 5) ∘

https://dl.doubtnut.com/l/_v3Jasw8Hd7mw
https://dl.doubtnut.com/l/_7YQsNVLlOfbj


A. 28

B. 32

C. 36

D. 42

Answer:

Watch Video Solution

4. The diagonals do not necessarily intersect at right

angles in a

A. parallelogram

B. trapezium

https://dl.doubtnut.com/l/_7YQsNVLlOfbj
https://dl.doubtnut.com/l/_ugLJnCzENXCA


C. rhombus

D. kite

Answer:

Watch Video Solution

5. In the given quadrilateral ABCD (not drawn to scale)

. Find the sum of  and . 
BC = AC = AD ∠DAC ∠ACB

https://dl.doubtnut.com/l/_ugLJnCzENXCA
https://dl.doubtnut.com/l/_rTAeb51vSWFj


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

76∘

132∘

56∘

112∘

6. If an angle of a parallelogram is two-thirds of its

adjacent angle, the smallest angle of the parallelogram is

A. 

B. 

54∘

72∘

https://dl.doubtnut.com/l/_rTAeb51vSWFj
https://dl.doubtnut.com/l/_vPnSmx0hZ1bp


C. 

D. 

Answer:

Watch Video Solution

81∘

108∘

7. The diagonals do not necessarily bisect the interior

angles at the vertices in a

A. rectangle

B. square

C. rhombus

D. None of these

https://dl.doubtnut.com/l/_vPnSmx0hZ1bp
https://dl.doubtnut.com/l/_Q1xemCjShruF


Answer:

Watch Video Solution

8. In a square ABCD, AB=(2x+3) cm and BC=(3x-5) cm . Then ,

the value of x is

A. 5

B. 7

C. 6

D. 8

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Q1xemCjShruF
https://dl.doubtnut.com/l/_sqvbjJVqn32H


9. State whether the statements are true (T) or (F) false. 

A quadrilateral can have all four angles as obtuse.

A. 4 acute angles

B. 4 obtuse angles

C. 3 obtuse angles

D. 2 acute angles and 2 obtuse angles

Answer:

Watch Video Solution

10. An isosceles trapezium has

https://dl.doubtnut.com/l/_sqvbjJVqn32H
https://dl.doubtnut.com/l/_aPxrE2LCCDIn
https://dl.doubtnut.com/l/_shwYWurd6d6x


A. are unequal

B. are equal

C. intersect at right angles

D. None of these

Answer:

Watch Video Solution

11. The quadrilateral in which only one pair of opposite

sides are parallel is called a

A. rectangle

B. kite

https://dl.doubtnut.com/l/_shwYWurd6d6x
https://dl.doubtnut.com/l/_CVhi3cfpZKmP


C. trapezium

D. rhombus

Answer:

Watch Video Solution

12. A quadrilateral, which is both a rectangle and a

rhombus is a

A. square

B. parallelogram

C. kite

D. trapezium

https://dl.doubtnut.com/l/_CVhi3cfpZKmP
https://dl.doubtnut.com/l/_0P5uYFK00Kk1


Answer:

Watch Video Solution

13. Adjacent angles of a parallelogram are __________.

A. equal

B. complementary

C. supplementary

D. None of these

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0P5uYFK00Kk1
https://dl.doubtnut.com/l/_JLTn4oQ6lEwm


14. A regular polygon is a polygon whose all sides are

equal and all __________ are equal.

A. equailateral

B. equiangular

C. both a and b

D. None of these

Answer:

Watch Video Solution

15. In a parallelogram if each angle is equal then it is

called a

https://dl.doubtnut.com/l/_KeYgmgd355yU
https://dl.doubtnut.com/l/_O95iWbpCMute


A. square

B. rectangular

C. rhombus

D. both a and b

Answer:

Watch Video Solution

16. The angles of a quadrilateral are in the ratio 1 : 2 : 3 : 4.

The smallest angle is

A. 

B. 

36∘

72∘

https://dl.doubtnut.com/l/_O95iWbpCMute
https://dl.doubtnut.com/l/_UZQXfTgXMHRx


C. 

D. None of these

Answer:

Watch Video Solution

144∘

17. Three angles of a quadrilateral are in the ratio 1:5:6.

The mean of these angles is . Find the fourth angle.

A. 

B. 

C. 

D. 

64∘

168∘

162∘

120∘

90∘

https://dl.doubtnut.com/l/_UZQXfTgXMHRx
https://dl.doubtnut.com/l/_UqK8MrY5oNbp


Answer:

Watch Video Solution

18. In the adjoining figure, ABC is a parallelogram. The

 is 

A. 

B. 

∠ABD

35∘

40∘

https://dl.doubtnut.com/l/_UqK8MrY5oNbp
https://dl.doubtnut.com/l/_khQ9uky8IcYN


C. 

D. 

Answer:

Watch Video Solution

80∘

25∘

19.  The sum of all angles of a quadrilateral is

A. 

B. 

C. 

D. 

180∘

270∘

300∘

360∘

https://dl.doubtnut.com/l/_khQ9uky8IcYN
https://dl.doubtnut.com/l/_JlRsahO3xgkE


Answer:

Watch Video Solution

20. If PQRS is a parallelogram, then  is equal to

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠P– ∠R

0∘

90∘

180∘

360∘

https://dl.doubtnut.com/l/_JlRsahO3xgkE
https://dl.doubtnut.com/l/_h4p7P95HyRO1


21. Which of the following is a false statement for a

parallelogram?

A. Opposite sides are equal

B. Opposite angles are equal

C. Diagonals bisect each other.

D. Diagonals bisect each other at right angles.

Answer:

Watch Video Solution

22. Which of the following statements are true for
 a

rectangle?
 It has two pairs of equal sides.
 It has all its

https://dl.doubtnut.com/l/_2LKo8XM19wGZ
https://dl.doubtnut.com/l/_A6bN2L66F8yV


sides of equal length.
Its diagonals are equal.
Its diagonals

bisect each other.
 Its diagonals are perpendicular.
 Its

diagonals are perpendicular and bisect each
 other.
 Its

diagonals are equal and bisect each other.
 Its diagonals

are equal and perpendicular, and
 bisect each other.
 All

rectangles are squares.
All rhombuses are parallelograms.

All squares are rhombuses and also rectangles.
All squares

are not parallelograms.

A. All rectangles are squares.

B. Its diagonals are perpendicular.

C. Its diagonals are equals

D. all sides are equal.

Answer:

https://dl.doubtnut.com/l/_A6bN2L66F8yV


Watch Video Solution

23. Which of the following statements is false for a

square?

A. It is a rectangle

B. It has all its sides of equal length.

C. All squares are not parallelograms.

D. Its diagonals bisects other at right angles.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_A6bN2L66F8yV
https://dl.doubtnut.com/l/_0Frp0DuGSndi
https://dl.doubtnut.com/l/_ZjALEDgRJKjt


24. Identify all the quadrilaterals that have 

a. four sides of equal length.

A. Rhombus

B. rectangular

C. Parallelogram

D. Kite

Answer:

Watch Video Solution

25. In which quadrilateral diagonals bisect each other at

right angles?

https://dl.doubtnut.com/l/_ZjALEDgRJKjt
https://dl.doubtnut.com/l/_155x1TVYCviC


A. parallelogram

B. Rectangle

C. Square

D. Kite

Answer:

Watch Video Solution

26. In the given figure ABCD is a rhombus with

. Determine 
∠ABC = 56∘ ∠ACD

https://dl.doubtnut.com/l/_155x1TVYCviC
https://dl.doubtnut.com/l/_Jyp4yoI8LDAr


A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

28∘

26∘

62∘

80∘

https://dl.doubtnut.com/l/_Jyp4yoI8LDAr


Watch Video Solution

27. If ABCD is a rhombus and BO=3 and AO=4cm, then find

the length of each side of rhombus. 

A. 5cm

B. 25cm

https://dl.doubtnut.com/l/_Jyp4yoI8LDAr
https://dl.doubtnut.com/l/_r4ORZEb93BYI


C. 10cm

D. 15cm

Answer:

Watch Video Solution

28. If the diagonals of a rhombus are 30 cm and 40 cm,

then the length of each side of rhombus is

A. 20cm

B. 22cm

C. 25cm

D. 45cm

https://dl.doubtnut.com/l/_r4ORZEb93BYI
https://dl.doubtnut.com/l/_QmEmpN22iWQ6


Answer:

Watch Video Solution

29. In a parallelogram 
 the bisectors of 


meet at 
Find 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

ABCD,

∠A and ∠B O. ∠AOB.

45∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_QmEmpN22iWQ6
https://dl.doubtnut.com/l/_8LM5dYG8jIiO


30. In the given figure RICE is a rhombus. Find 


A. 30

B. 35

C. 25

x + y + z

https://dl.doubtnut.com/l/_8LM5dYG8jIiO
https://dl.doubtnut.com/l/_D2LQbHLhf8b9


D. 20

Answer:

Watch Video Solution

31. In the following figure ABCD is a trapezium in which

. Find the measdure of .


A. 

B. 

AB ∣ ∣ DC ∠C

120∘

60∘

https://dl.doubtnut.com/l/_D2LQbHLhf8b9
https://dl.doubtnut.com/l/_j7HalFNY2Tx4


C. 

D. 

Answer:

Watch Video Solution

100∘

80∘

32. The diagonals of a rectangular ABCD intersect at O. If

, then find 
∠BOC = 68∘ ∠ODA

https://dl.doubtnut.com/l/_j7HalFNY2Tx4
https://dl.doubtnut.com/l/_ss5xrIfe3QIA


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

28∘

56∘

112∘

68∘

33. In the given figure ABD and BCD are isosceles triangles,

where AB=BC=BD. The special name that is given to

https://dl.doubtnut.com/l/_ss5xrIfe3QIA
https://dl.doubtnut.com/l/_aouoLTreVGRo


quadrilateral ABCD is 

A. rectangle

B. Rhombus

C. Parallelogram

D. trapezium

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_aouoLTreVGRo


Watch Video Solution

34. ROCK is a rectangle. Its diagonals meet at A. Find a if

 and . 


A. 3

B. 5

C. 8

D. 4

RA = 4a − 5 OA = 3a + 3

https://dl.doubtnut.com/l/_aouoLTreVGRo
https://dl.doubtnut.com/l/_b4gttYU2s8md


Answer:

Watch Video Solution

35. In the given figure CDP is a straight line  is an

equilateral triangle

 and 

. Then,  equals 


A. 

ΔAQD

∠BAR = 90∘ , ∠QAR = 135∘ , ∠BCD = 106∘

∠ABC = 100∘ ∠PDQ

39∘

https://dl.doubtnut.com/l/_b4gttYU2s8md
https://dl.doubtnut.com/l/_RLVHZrN3nGtK


Exercise Multiple Choice Question Level 2

B. 

C. 

D. 

Answer:

Watch Video Solution

21∘

41∘

53∘

1. Which of the following statements is false for a

rhombus?

A. It has two pairs of equal sides.

https://dl.doubtnut.com/l/_RLVHZrN3nGtK
https://dl.doubtnut.com/l/_Fos6xxTLrqtI


B. Its diagonals bisect each other at right angles.

C. It is a parallelogram

D. Two of its angles are right angles.

Answer:

Watch Video Solution

2. The length and breadth of a rectangle are in the ratio

4:3. If the diagonal measures 25 cm then the perimeter of

the rectangle is

A. 56cm

B. 60cm

https://dl.doubtnut.com/l/_Fos6xxTLrqtI
https://dl.doubtnut.com/l/_DDxs9MwguoHc


C. 70cm

D. 80cm

Answer:

Watch Video Solution

3. If one angle of a parallelogram is  less than twice

the smallest angle then the largest angle of the

parallelogram is

A. 

B. 

C. 

24∘

68∘

102∘

112∘

https://dl.doubtnut.com/l/_DDxs9MwguoHc
https://dl.doubtnut.com/l/_JHZzAyOSrYVG


D. 

Answer:

Watch Video Solution

176∘

4. In the adjacent figure, angle P and angle R are in the

ratio 3:7, then the value of a is 

https://dl.doubtnut.com/l/_JHZzAyOSrYVG
https://dl.doubtnut.com/l/_13Gok4Tt8FWD


A. 

B. 

C. 

D. None of these

Answer:

Watch Video Solution

47∘

57∘

123∘

https://dl.doubtnut.com/l/_13Gok4Tt8FWD


Watch Video Solution

5. In a rectangle ABCD, the diagonals intersect at O.If

, then 


A. 

B. 

C. 

D. None of these

∠AOB = 62∘ ∠ODC =

39∘

59∘

48∘

https://dl.doubtnut.com/l/_13Gok4Tt8FWD
https://dl.doubtnut.com/l/_z78zdBe6IDCC


Answer:

Watch Video Solution

6. Polygon A is a regular pentagon and polygon B is a

regular hexagon. Find the value of x.

https://dl.doubtnut.com/l/_z78zdBe6IDCC
https://dl.doubtnut.com/l/_tAXQbFASowMO


A. 

B. 

108∘

132∘

https://dl.doubtnut.com/l/_tAXQbFASowMO


C. 

D. 

Answer:

Watch Video Solution

124∘

96∘

7. In the given figure, AD||BC,

. Express b in terms of c. 
∠AFG = b and ∠BCD = c

https://dl.doubtnut.com/l/_tAXQbFASowMO
https://dl.doubtnut.com/l/_YRQ1bvS8PbKM


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

c/2

90∘ + c

2

180∘ − c/2

90∘ − c/2

8. In the given figure line RT is drawn parallel to SQ. If

 and ∠QPS = 100∘ , ∠PQS = 40∘ , ∠PSR = 85∘

https://dl.doubtnut.com/l/_YRQ1bvS8PbKM
https://dl.doubtnut.com/l/_opojVsnP75JN


, then 


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

∠QRS = 70∘ ∠QRT =

45∘

65∘

85∘

90∘

https://dl.doubtnut.com/l/_opojVsnP75JN
https://dl.doubtnut.com/l/_kKercJ7vopuu


9. ABCD is a rectangle. Find the value of x.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

54∘

36∘

24∘

18∘

https://dl.doubtnut.com/l/_kKercJ7vopuu


Watch Video Solution

10. If PQRS is a parallelogram, then y equals 

A. 

B. 

C. 

D. 

Answer:

27∘

61∘

41∘

28∘

https://dl.doubtnut.com/l/_kKercJ7vopuu
https://dl.doubtnut.com/l/_jRzvMPcJrTDS


Watch Video Solution

11. PQRS is a kite.If  and ,then 

equals 

∠P = 70∘ ∠S = 90.5∘ ∠R

https://dl.doubtnut.com/l/_jRzvMPcJrTDS
https://dl.doubtnut.com/l/_t79zQUEmIBDg


A. 

B. 

C. 

99∘

91∘

111∘

https://dl.doubtnut.com/l/_t79zQUEmIBDg


D. 

Answer:

Watch Video Solution

109∘

12. In the given figure, ABCD is a square and  is an

equilateral triangle. Find . 


A. 

ΔBCT

∠BTD

30∘

https://dl.doubtnut.com/l/_t79zQUEmIBDg
https://dl.doubtnut.com/l/_UykOu54nMhuj


B. 

C. 

D. 

Answer:

Watch Video Solution

15∘

45∘

35∘

13. In the given figure, PQRS is a parallelogram and

. If the bisectors of  meet at A∠SPQ = 60∘ ∠P and ∠Q

https://dl.doubtnut.com/l/_UykOu54nMhuj
https://dl.doubtnut.com/l/_nYlq9wLKS19z


on RS, then which of the following is not correct ? 

A. AS=SP

B. AS=AR

C. AR=SP

D. AQ=PQ

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_nYlq9wLKS19z


Exercise Multiple Choice Question Level 2 Match The

Following

1. Match the lists: 

A. P-1,Q-2,R-3,S-4

B. P-3,Q-4,R-1,S-2

C. P-4,Q-2,R-3,S-1

https://dl.doubtnut.com/l/_cCMKWur1duhy


Exercise Multiple Choice Question Level 2 Assertion And

Reason Type

D. P-4,Q-3,R-2,S-1

Answer:

Watch Video Solution

1. Assertion: The measure of each angle of a regular

hexagon is  


Reason: Sum of all interior angles of a polygon of n sides

is (n-2) right angles.

120∘

https://dl.doubtnut.com/l/_cCMKWur1duhy
https://dl.doubtnut.com/l/_4SCbWlTRQdab


A. If both assertion and reason are true and reason is

the correct explanation of assrtion.

B. If both assertinon and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true:

Answer:

Watch Video Solution

2. Assertion: The adjacent angles in a parallelogram are

supplementary. 

https://dl.doubtnut.com/l/_4SCbWlTRQdab
https://dl.doubtnut.com/l/_YbSrpnUNHx3V


Reason: In a parallelogram the adjacent angles are always

equal.

A. If both assertion and reason are true and reason is

the correct explanation of assrtion.

B. If both assertinon and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true:

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_YbSrpnUNHx3V


3. Assertion: Every kite is a rhombus. 

Reason: All sides are not equal in a kite.

A. If both assertion and reason are true and reason is

the correct explanation of assrtion.

B. If both assertinon and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true:

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wm87PR1YKfTJ
https://dl.doubtnut.com/l/_X9DQ31T7JzT7


4. Assertion: Diagonals of a rhombus bisect each other.

Reason: Even rhombus is a parallelogram and diagonals of

parallelogram bisect each other.

A. If both assertion and reason are true and reason is

the correct explanation of assrtion.

B. If both assertinon and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true:

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_X9DQ31T7JzT7


5. Assertion: Every rectangle is a parallelogram. 

Reason: Rectangle satisfies all the properties of

parallelogram as opposite sides are equal and parallel,

diagonals biseect each other and opposite angles are

equal.

A. If both assertion and reason are true and reason is

the correct explanation of assrtion.

B. If both assertinon and reason are true but reason is

not the correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true:

https://dl.doubtnut.com/l/_ksVsTauG2vpp


Exercise Multiple Choice Question Level 2 Comprehension

Type

Answer:

Watch Video Solution

1. Passage I: The angle of a quadrilateral are in the ratio

3:5:7:9. 

If measure of angles be (3x),(5x),(7x) and (9x), then the

value of x is

A. 

B. 

20∘

15∘

https://dl.doubtnut.com/l/_ksVsTauG2vpp
https://dl.doubtnut.com/l/_IfnCS5nomMAu


C. 

D. 

Answer:

Watch Video Solution

25∘

10∘

2. The angles of a quadrilateral are in the ratio .

Find the measure of each of these angles.

A. 

B. 

C. 

D. 

3: 5: 7: 9

45∘ , 70∘ , 105∘ , 140∘

40∘ , 80∘ , 105∘ , 135∘

45∘ , 75∘ , 110∘ , 130∘

45∘ , 75∘ , 105∘ , 135∘

https://dl.doubtnut.com/l/_IfnCS5nomMAu
https://dl.doubtnut.com/l/_hiBxxlYSWTP3


Answer:

Watch Video Solution

3. Passage I: The angle of a quadrilateral are in the ratio

3:5:7:9. 

The sum of the least and greatest angle is

A. 

B. 

C. 

D. 

Answer:

175∘

180∘

170∘

185∘

https://dl.doubtnut.com/l/_hiBxxlYSWTP3
https://dl.doubtnut.com/l/_df68FzkAUbM3


Watch Video Solution

4. Passage II: Measure of each exterior angle of a regular

polygon of n sides : 


The measure of each exterior angle of a 10 sided regular

polygon is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
∘360

n

36∘

30∘

18∘

35∘

https://dl.doubtnut.com/l/_df68FzkAUbM3
https://dl.doubtnut.com/l/_CQsF2EDuy6wX


5. Passage II: Measure of each exterior angle of a regular

polygon of n sides : 


If measure of an exterior angle is , the number of sides

in a regular polygon is

A. 7

B. 11

C. 10

D. 8

Answer:

Watch Video Solution

( )
∘360

n

45∘

https://dl.doubtnut.com/l/_CQsF2EDuy6wX
https://dl.doubtnut.com/l/_kUEyscWFn6Z0


Exercise Multiple Choice Question Level 2 Subjective

Problems

6. What is the measure of an exterior angle of a regular

polygon of 6 sides?

A. Octagon

B. Quadrilateral

C. Nonagon

D. Hexagon

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fcBJ77mYMWSA
https://dl.doubtnut.com/l/_rRsw2h9lHK9K


1. Find the measure of x in the given figure: 

Watch Video Solution

2. In a quadrilateral

. Find the

measure of . What kind of quadrilateral is it convex or

concave?

PQRS, ∠P = 70∘ , ∠Q = 90∘ , ∠R = 55∘

∠S

https://dl.doubtnut.com/l/_rRsw2h9lHK9K
https://dl.doubtnut.com/l/_OmD3EPFSU3Y4


Watch Video Solution

3. Find the measure of x 

Watch Video Solution

4. Which of the following groups of angle can be the

angles of a quadrilateral? 

(i)  


(ii) 

120∘ , 90∘ , 75∘ , 30∘

100∘ , 100∘ , 70∘ , 90∘

https://dl.doubtnut.com/l/_OmD3EPFSU3Y4
https://dl.doubtnut.com/l/_Phsh2QNd9gDr
https://dl.doubtnut.com/l/_EO683HvGnGwJ


Watch Video Solution

5. Let PQRS be a rhombus, find x,y

Watch Video Solution

https://dl.doubtnut.com/l/_EO683HvGnGwJ
https://dl.doubtnut.com/l/_uyyJgxVBFycS


6. In a quadrilateral

. Find . Is

this quadrilateral convex or concave?

Watch Video Solution

PQRS∠P = 40∘ , ∠Q = 60∘ , ∠R = 60∘ ∠S

7. Adjacent angles of a parallelogram are in the ratio of

2:7. Find their values.

Watch Video Solution

8. In a parallelogram, two adjacent angles are

supplementary.

https://dl.doubtnut.com/l/_w7gcKopDt3s9
https://dl.doubtnut.com/l/_Z6uHZjkwaYBU
https://dl.doubtnut.com/l/_6HeIgxEEqChA


Watch Video Solution

9. The diagonals of a quadrilateral are of lengths
6cm and

8cm. If the diagonals bisect each other at right angles,

what is the
length of each side of the quadrilateral?

Watch Video Solution

10. In the given figure find the measure of .


Watch Video Solution

∠C

https://dl.doubtnut.com/l/_6HeIgxEEqChA
https://dl.doubtnut.com/l/_PJKCBklRUO9L
https://dl.doubtnut.com/l/_4YJHnsoH5GdJ


Watch Video Solution

11. Three angles of a quadrilateral are in the ratio 1:2:3.

The mean of these angles is . Find the four angles.

Watch Video Solution

32∘

12. Prove that in a rhombus with angles of , the

shorter diagonal divides it into two equilateral triangles.

Watch Video Solution

60∘

13. 
is a rhombus whose diagonals intersect at 
If


diagonals 
 , find the length of

ABCD O.

AB = 10cm, BD = 16 cm

https://dl.doubtnut.com/l/_4YJHnsoH5GdJ
https://dl.doubtnut.com/l/_qIun6xIwLQWa
https://dl.doubtnut.com/l/_wSk4ds6383Pg
https://dl.doubtnut.com/l/_PpwjPaMjxmvf


diagonal 

Watch Video Solution

AC

14. ABCD is a prallelogram in which . Find the

measure of each of the angles  and .

Watch Video Solution

∠A = 75∘

∠B, ∠C ∠D

15. In Figure, 
 is a parallelogram in
 which 


 Compute 

Watch Video Solution

ABCD

∠DAB = 750and ∠DBC = 600.

∠CDB and ∠ADB

https://dl.doubtnut.com/l/_PpwjPaMjxmvf
https://dl.doubtnut.com/l/_eJeSFASsu70M
https://dl.doubtnut.com/l/_z0CcbxVzh22n
https://dl.doubtnut.com/l/_RZGxFF40anFF


16. In a parallelogram 
 determine

the measure of 

Watch Video Solution

ABCD,  ∠D = 1150,

∠A and ∠B.

17. Theratio of two sides of a rectagle is 3:5and its

perimeter is 48m. Find the sides of the rectangle

Watch Video Solution

18. The interior angle of a regular polygon is 
Find the

number of sides of the polygon.

Watch Video Solution

1560.

https://dl.doubtnut.com/l/_RZGxFF40anFF
https://dl.doubtnut.com/l/_vrqp2Hqb4vbs
https://dl.doubtnut.com/l/_HQyg31fT7FRw


19. Two adjacent sides of a rectangle are in the ratio 4:3.

The perimeter of the rectangle is 210 m. Find the sides of

the rectangle.

Watch Video Solution

20. Consider a parallelogram ABCD in the figure. Find the

value of x. 

https://dl.doubtnut.com/l/_HQyg31fT7FRw
https://dl.doubtnut.com/l/_SNErqVEcVoXv
https://dl.doubtnut.com/l/_NY9ucxbSNG47


Watch Video Solution

21. Two regular polygon
 are such that the ratio between

their number of sides is 1:2 and the ratio of
 measures of

their interior angles is 3:4. Find the number of sides of

each
polygon.

Watch Video Solution

22. The exterior angle of a regular polygon is
one-third of

its interior angle. How many sides has
the polygon?

Watch Video Solution

https://dl.doubtnut.com/l/_NY9ucxbSNG47
https://dl.doubtnut.com/l/_P8GCFA0wB2Vf
https://dl.doubtnut.com/l/_Teg9FEAhziTV
https://dl.doubtnut.com/l/_ZdcXMKqdXY9r


23. In a quadrilateral 
 and 
 are the

bisectors of 
 and 
 respectively. Prove that

Watch Video Solution

ABCD, AO BO

A∠ ∠B

∠AOB = (∠C + ∠D).
1

2

24. In Figure, bisectors of 
 of quadrilateral 


 meet 
 produced at 

respectively. Prove that

Watch Video Solution

∠B and ∠D

ABCD CD and AB P  and Q

∠P + ∠Q = (∠ABC + ∠ADC).
1

2

https://dl.doubtnut.com/l/_ZdcXMKqdXY9r
https://dl.doubtnut.com/l/_4jVabFuLXM7w


25. The diagonals of a rectangle 
 meet at 
 If 


find 

Watch Video Solution

ABCD O.

∠BOC = 440, ∠OAD.

26. The number of sides of a polygon whose exterior and

interior angles are in the ratio  is k. The value of k is

Watch Video Solution

1: 5

27. The ratio of two sides of a rectangle is 4:3 and its

perimeter is 56 m. If the sides of rectangle be a and b.

then  (in m) isa + b

https://dl.doubtnut.com/l/_yDyIaGIU5Y5x
https://dl.doubtnut.com/l/_sj0CjVOe0bwo
https://dl.doubtnut.com/l/_sPgZq2pUZiNs


Watch Video Solution

28. The number of sides in a decagon is . The value

of l is

Watch Video Solution

l + 15
2

29. The measure of angles of a hexagon are

Find the value of 

Watch Video Solution

x0,  (x − 5)0,  (x − 5)0,  (2x − 5)0,  (2x − 5)0,  (2x + 20)0.

x.

https://dl.doubtnut.com/l/_sPgZq2pUZiNs
https://dl.doubtnut.com/l/_ZOQ42rduT9YH
https://dl.doubtnut.com/l/_pX0tAHvNskXF


30. The number of sides of a regular polygon when each

of its angle has a measure of  is

Watch Video Solution

135∘

31. Find the value of s,if the number of sides in an octagon

is .

Watch Video Solution

s + 5

2

32. Find the number of sides of a regular polygon when

each of its angle has a measure of .

Watch Video Solution

90∘

https://dl.doubtnut.com/l/_S504sgorc8Kj
https://dl.doubtnut.com/l/_Aai4QdAX9dsV
https://dl.doubtnut.com/l/_ysIzCbJJTXBZ


33. The polygon with………..sides is called nonagon.

Watch Video Solution

34. The exterior and interior angles of n sides polygon are

in the ratio 1:2. Find the number of sides.

Watch Video Solution

35. The measure of angle of a quadrilaterial are x, 2x, 3x

and 4x. Find the value of .

Watch Video Solution

x

12∘

https://dl.doubtnut.com/l/_ysIzCbJJTXBZ
https://dl.doubtnut.com/l/_xXHFMoR3TkZw
https://dl.doubtnut.com/l/_SrHeudzDv6Ed
https://dl.doubtnut.com/l/_kHHraYDnXkjr


Olympaid Hots Corner

1. If ABCD is a parallelogram  and  are

isosceles triangles, then find . 


A. 

B. 

C. 

D. 

ΔADN ΔABC

∠BAC

112∘

140∘

48∘

32∘

https://dl.doubtnut.com/l/_WdMDpxdDF67J


Answer:

Watch Video Solution

2. In the given figure DO and CO are the bisectors of

 and  respectively. If 

 and  find 


 


 and 

A. 

∠ADC ∠BCD

∠ADC = ∠BCD = 60∘ ∠DAB = 100∘

∠DOC ∠ABC

160∘ , 40∘

https://dl.doubtnut.com/l/_WdMDpxdDF67J
https://dl.doubtnut.com/l/_WiroXd1wYgB8


B. 

C. 

D. 

Answer:

Watch Video Solution

110∘ , 140∘

120∘ , 140∘

140∘ , 120∘

3. The diagonals of a rectangle 
 meet at 
 If 


find 

A. 

B. 

C. 

ABCD O.

∠BOC = 440, ∠OAD.

120∘

68∘

90∘

https://dl.doubtnut.com/l/_WiroXd1wYgB8
https://dl.doubtnut.com/l/_bIj6LYd0davP


D. 

Answer:

Watch Video Solution

44∘

4. ABCD is a square of area of 4 square units which is

divided into 4 non overlapping triangles as shown in

figure, then sum of perimieters of the triangles so formed

https://dl.doubtnut.com/l/_bIj6LYd0davP
https://dl.doubtnut.com/l/_uCmLdDURMW7a


is 

A.  units

B.  units

C.  units

D.  units

Answer:

Watch Video Solution

8(2 + √2)

8(1 + √2)

4(1 + √2)

4(2 + √2)

https://dl.doubtnut.com/l/_uCmLdDURMW7a


5. Match the following 

A. 

B. 

C. 

P → v, Q → iv, R → iii, S → i, T → ii

P → i, Q → ii, R → iii, S → iv, T → v

P → iii, Q → ii, R → v, S → i, T → iv

https://dl.doubtnut.com/l/_uCmLdDURMW7a
https://dl.doubtnut.com/l/_JibbHdv12DAS


D. 

Answer: D

Watch Video Solution

P → ii, Q → iii, R → i, S → v, T → iv

6. In the given figure (not drawn to scale), ABCD is a

parallelogram and GBEF is a rectangle. Find 

https://dl.doubtnut.com/l/_JibbHdv12DAS
https://dl.doubtnut.com/l/_AF4CnVChwL5l


 


(i) x (ii) y

A. 

B. 

C. 

(i)      (ii)

60∘      47∘

(i)      (ii)

30∘      23∘

(i)      (ii)

30∘      67∘

https://dl.doubtnut.com/l/_AF4CnVChwL5l


D. 

Answer:

Watch Video Solution

(i)      (ii)

60∘      30∘

7. The measures of the five angles of a hexagon are equal

and the sixth angle measures , then the measure of

each of the five angles is

A. 

B. 

C. 

D. 

100∘

120∘

124∘

128∘

130∘

https://dl.doubtnut.com/l/_AF4CnVChwL5l
https://dl.doubtnut.com/l/_9AAIALJAzmaf


Answer:

Watch Video Solution

8. If the given figure is made up of 3 identical regular

polygons, then find 

 


(i)  (ii) 

Watch Video Solution

∠ABC ∠DIN

https://dl.doubtnut.com/l/_9AAIALJAzmaf
https://dl.doubtnut.com/l/_hYFb2Ul2Vp15


Watch Video Solution

9. Sides AB and CD of a quadrilateral ABCD are extended

as shown in the figure Then a+b is equal to 

A. 

B. 

C. 

D. 

x + 2y

x − y

x + y

2x + y

https://dl.doubtnut.com/l/_hYFb2Ul2Vp15
https://dl.doubtnut.com/l/_oXXpqxQFmS8j


Answer:

Watch Video Solution

10. In the given figure ABCD is a parallelogram. Then the

values of x and y respectively are 

A. 

B. 

C. 

x = 60∘ , y = 15∘

x = 45∘ , y = 25∘

x = 25∘ , y = 45∘

https://dl.doubtnut.com/l/_oXXpqxQFmS8j
https://dl.doubtnut.com/l/_KmKAxLaZ3XZc


D. 

Answer:

Watch Video Solution

x = 50∘ , y = 40∘

11. in the figure,  is a point in the interior of square 

 is also a square. If 

 Then 

A. 5cm

B. 6cm

C. 7cm

D. 8cm

X

ABCD. AXYZ

DY = 3cm and AZ = 2cm. BY =

https://dl.doubtnut.com/l/_KmKAxLaZ3XZc
https://dl.doubtnut.com/l/_QfEQe3vQTSly


Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_QfEQe3vQTSly

